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And not the field until it has nine °2p, etc.

OVERVIEW

The 7wn teaches us that one partner cannot coerce the other partner to divide a
field unless after the division each partner will have a field of no less than nine
TIp.

Mmoo anticipates a difficulty:
— 'MW %991 907 Y937 23 Yy 9N

Even though that a miniscule parcel is also called a 77w (field), so why is it
necessary that each partner receive nine 1°3p?

mooIn proves that even a 117 93 is called a 77w:
—>25999W 929N ¥9% N9 193 NN Y PN (N0 97 PYITIPI 9IIND P92 13999NTD

As the Xn>72 states in 9287 299 in PRSP Noon; ‘I only know regarding a ( "2

712) field which is seeded with a 915 of barley that it is redeemed [for fifty o*5pw] -
— ‘1Y Y TNYN 299N KN 2PN ARD S8 AND MY P

How do we derive to include a smaller field which was planted with only [a
10T, a 718D, a 2770’ or half-a-27pn; the 770 teaches by stating 17 to include any
size field. This concludes the &n>n2. It is evident since we even include a field of a 2p7n °%11; that

this too is called a 77w, so seemingly we should be allowed to divide a field of any size even a
2PN °¥n (or less).6

mooin replies:
—1°2P 701 HHN ¥INRDY YIIND NIIVY 2IWN 1N DIPN Yon

! See footnote # 6.

% The n"a7 Mt amends this to read, 2p N (7RO *¥M) AXD A% MY P 2WMAA DNV VT Y1 (M N2) K’9X; the
words 712 12 and 780 "¢ are deleted.

* The 770 in 0,73 (°NPIM2) XIP7 teaches that if one is wW>7pn his inherited field (immediately after 2v), he can
redeem it (immediately after 921°) at the rate fifty 0°%pw for an area where you can plant a 113 of barley (this area is
called a 75 n*2). A 71 is the equivalent of thirty nxo. For redeeming it each subsequent year (after 22v) the
redemption fee is reduced by a forty-ninth (1/49), or slightly more than a %pw (for each year).

* The 779N wrote 131 \NIAR 77wn it could have written only 1n1InX»A, the extra word 77w includes the abovementioned.
In all these smaller fields the same laws of redemption apply proportionally (a In% can be redeemed for twenty-five
a™Mpw, ete.).

SA 1n? is fifteen X0 or half a M. A 2pnn is three 1°2p (A0 meaning two and 2p a third 2p), which is half a 77R0 (a &
contains six 13p). Half a 2p7n is a quarter of a X0 (one and a-half 13p).

® Our mwn concludes PPN Yoy MW Pow 3 99371 1; here too it is oy MW, even if the divided field is a 2p7n *xn
(one and a half 7"3p, which is much smaller than 1°3p 'v), it is still called a 77w.
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Nevertheless a field which is less than nine 1°2p is not sufficiently significant to
bother with plowing and planting it.”

Mmoo anticipates a difficulty:
— N3N 9399 *N9%3 NINA N (x,207 97 MAIN 9102 99NT N

And regarding this which the X7n3 relates in the end of n12wn> noon, ‘a certain
% said to N1 ' -
— NAN %Y 197 AND N2 199YINT IPHAYN IIND
‘It is proper that you praise you land (°"X); my father left me a 782 N3 (in >"x) -
— 919 0P NINN 912%Y NINM [N NINN] NYN NN
From it there was oil [from it there was wine], from it there was grain, from it

there were legumes, etc. It is apparent from that 13 that it is worthwhile to till a X0 N3
(which is six 12p), why do we require 72p "0?!

mooIn responds:
992 79aNNY 0PN NN OnNn

That field of the 7» was in a place where it was exceedingly blessed:" however
usually it requires 737 "0 to be worthwhile to plow and plant.

SUMMARY
It is not worthwhile to prepare a field of less than nine 2P for planting [even
though it is considered a 77w], unless it is especially fertile.

THINKING IT OVER

1. How can we reconcile that which the 71wn states 121 1°P217 VoY vaw pomw 93,
with the fact that a 77w retains its name even if it is less than 2P 'u, and
nevertheless we do not divide it?!"’

2. In an extremely fertile field;12 can it be divided with less than 7nX %27 1°2p '0?

7 All the work that is necessary to prepare a field of seventeen 1ap (for instance) is not much more that preparing a
field of eight 1ap. If the field is kept in partnership the expenses and bother for both together is about the same as the
expenses and bother for each of them individually if they will divide. Therefore we are causing the partner an undue
loss by coercing him to divide. See “Thinking it over’ # 1.

8 In M2 the X073 in the XM is "P17%; it refers to one who does not believe in 5"vawin.

® The n"2n M1 amends this word to read 19y7xb.

' See “Thinking it over’ # 2.

' See x> mx 7"210 and »"m1.,

2 See footnote # 10.

2
TosfosInEnglish.com



